
 (A-70) P. T. O. 

S-697    Roll No. ………………….. 

LM–1009 

Law of Industrial and Intellectual Property 

Master of Law (LLM-11) 

Second Year, Examination, 2018 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the subject matter in which copyright exists. 

Discuss whether copyright exists in question papers, 

compilations and classroom lectures. 

ml fo”k; ij ppkZ dhft, ftlesa dkWihjkbV ekStwn gS \ 

ppkZ dhft, fd D;k dkWihjkbV iz’ui=] ladyu vkSj 

d{k&O;k[;ku esa ekStwn gSA 

2. “The outcome of Novertis v. UOI confirms the right of 

India‟s parliament to implement public health 

safeguards available under the TRIPs.” Do you agree 

with this statement ? Comment. 

ßuksVkfVZl v. Hkkjr dk la?k dk ifj.kke fVªIl ds vUrxZr 

miyC/k lkoZtfud LokLF; lqj{kk mik;ksa dks ykxw djus ds 

fy, Hkkjr dh laln ds vf/kdkj dh iqf”V djrk gSAÞ D;k 

vki bl dFku ls lger gSa \ fVIi.kh dhft,A 

3. What is bio-patent ? What is the justification for 

granting bio-patents ? 

tSo isVsaV D;k gS \ ck;ks&isVsaV nsus ds fy, vkSfpR; D;k gS \ 

4. Discuss the role of IPR in the area of food security. 

[kk| lqj{kk ds {ks= esa ckSf)d lEink vf/kdkj dh Hkwfedk dh 

ppkZ dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is the meaning of piracy ? 

ckSf)d lEink pksjh dk eryc D;k gS \ 

2. What is a plant patent ? 

IykaV isVsaV D;k gS \ 

3. Describe the sui generis protection of plant verities of 

biotechnology patents. 

tSo izkS|ksfxdh ds vUrxZr IykaV isVsaV ds lqbZ tsusfjl laj{k.k 

dk o.kZu dhft,A 

4. What is a patent infringement ? 

isaVsV mYya?ku D;k gS \ 

5. What are the elements of patent infringement ? Discuss 

the relationship between the TRIPS Agreement and 

free trade. 

isVsaV mYya?ku ds rRo D;k gS \ fVªIl le>kSrs vkSj eqDr 

O;kikj ds chp lEcU/kksa ij ppkZ dhft,A 
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6. What do you understand by the concept of IPR ? 

ckSf)d lEink vf/kdkj dh vo/kkj.kk ls vki D;k le>rs  

gSa \ 

7. Discuss the different protections of IPR laws under the 

WTO and TRIPS obligations. 

fo’o O;kikj laxBu vkSj fVªIl nkf;Roksa ds rgr ckSf)d 

lEink vf/kdkj fof/k ds }kjk iznku dh x;h fofHkUu lqj{kkvksa 

dh ppkZ dhft,A 

8. What is National Pharmaceutical Policy, 2006 ? 

jk”Vªh; QkekZL;qfVdy uhfr] 2006 D;k gS \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. An electrical appliance store exhibited two types of 

water heaters (Brand A and Brand B). When a 

customer inquired about Brand A water heater, the 

shop owner recommended Brand B water heater to the 

Customer and criticized Brand A water heater. Is the 

shop owner‟s act an infringement of copyright ?  

     (True/False) 
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,d fctyh ds midj.k dh nqdku esa nks izdkj ds ty ghVj 

¼czkaM , vkSj czkaM ch½ dk izn’kZu gqvkA tc ,d dLVej us 

czkaM , okWVj ghVj ds ckjs esa iwNk] rks nqdku ds ekfyd us 

dLVej dks czkaM ch okWVj ghVj dh flQkfj’k dh vkSj czkaM , 

okWVj ghVj dh vkykspuk dhA D;k nqdku ds Lokeh }kjk ;g 

dkWihjkbV dk mYya?ku gS \   ¼lR;@vlR;½ 

2. Improvements to old technologies may be patented.  

     (True/False) 

iqjkuh izkS|ksfxfd;ksa ds lq/kkj isVsaV fd, tk ldrs gSaA  

    ¼lR;@vlR;½ 

3. A Patent application has been updated after it has been 

filed to incorporate new features. (True/False) 

ubZ lqfo/kkvksa dks ‘kkfey djus ds fy, nk;j djus ds ckn 

,d isVsaV vkosnu viMsV fd;k x;k gSA ¼lR;@vlR;½ 

4. An internet user downloaded a photo from the internet 

and distributed it to friends by e-mail. Does the internet 

user infringe copyright ? (True/False) 

,d baVjusV mi;ksxdrkZ us baVjusV ls ,d rLohj MkmuyksM 

dh vkSj bls bZ&esy }kjk fe=ksa dks forfjr fd;kA D;k 

baVjusV mi;ksxdrkZ dkWihjkbV dk mYya?ku djrk gS \  

    ¼lR;@vlR;½ 

5. The person who pays for the inventing owns the 

patents.   (True/False) 

[kkstdrkZ ds fy, Hkqxrku djus okyk O;fDr isVsaV dk 

ekfyd gSA   ¼lR;@vlR;½ 
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6. A patent grants the inventor the right to make, use, sell, 

and import his or her invention. In other words, does a 

patent grant the inventor the right to practice the 

invention—meaning, the right to make, use, sell, and 

import the invention. (True/False) 

isVsaV vkfo”dkjd dks vius vkfo”dkj dks cukus] mldk 

mi;ksx] cspus vkSj vk;kr djus dk vf/kdkj nsrk gSA nwljs 

‘kCnksa esa] D;k isVsaV dks vkfo”dkjd dks vkfo”dkj djus dk 

vf/kdkj&vFkZ] cukus] mi;ksx] cspus vkSj vk;kr dks vk;kr 

djus dk vf/kdkj iznku djrk gSA  ¼lR;@vlR;½ 

7. Under normal circumstances, if a limited company 

infringes copyright, directors of the company do not 

bear any liabilities.  (True/False) 

lkekU; ifjfLFkfr;ksa esa] vxj ,d lhfer dEiuh dkWihjkbV 

dk mYya?ku djrh gS] rks dEiuh ds funs’kd fdlh Hkh 

nsunkjrk dks lgu ugha djrs gSaA  ¼lR;@vlR;½ 

8. Infringement of a registered trade mark attracts civil 

and criminal liabilities. (True/False) 

,d iathd`r O;kikj fpà dk mYya?ku ukxfjd vkSj 

vkijkf/kd mŸkjnkf;Roksa dks vkdf”kZr djrk gSA ¼lR;@vlR;½ 

9. On Temple Street, a hawker sold a fake Rolex watch 

which has the same appearance as the real Rolex watch 

to a tourist. Did the hawker commit passing off ?  

     (True/False) 
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eafnj LVªhV ij] ,d gkWdj us ,d udyh jksysDl ?kM+h csph 

tks ,d i;ZVd ds fy, vlyh jksysDl ?kM+h ds :i esa gh 

mifLFkr gSA D;k gkWdj us ikflax vkWQ dk vijk/k fdl \  

    ¼lR;@vlR;½ 

10. Unless a trade mark has been used for a long time, the 

registration of a descriptive trade mark will not be 

approved by the Trade Mark Registry.  (True/False) 

tc rd fdlh VªsMekdZ dk bLrseky yEcs le; rd ugha 

fd;k tkrk gS] rc rd VªsM ekdZ jftLVªh }kjk ,d 

o.kZukRed VªsMekdZ ds iathdj.k dks eatwjh ugha nh tk,xhA   

    ¼lR;@vlR;½ 
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